
Den Aufschlag errechnen Sie so:
• Bei 3 Monatsbeträgen:
Kaufpreis x 0,71 x 3 : 100 = Aufschlag
• Bei 6 Monatsbeträgen:
Kaufpreis x 0,62 x 6 : 100 = Aufschlag
• Bei 9 Monatsbeträgen:
Kaufpreis x 0,59 x 9 : 100 = Aufschlag
• Bei 12 Monatsbeträgen:
Kaufpreis x 0,58 x 12 : 100 = Aufschlag
• Bei 18 Monatsbeträgen:
Kaufpreis x 0,58 x 18 : 100 = Aufschlag
• Bei 24 Monatsbeträgen:
Kaufpreis x 0,58 x 24 : 100 = Aufschlag

Beispiel                        Tabelle                                  
zurück      


